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Please do not open this Question
Booklet until you are told to do so. .

Candidate must fill up the necessary
information in the space provided

on the OMR Answer Sheet before

commencement of the test.

For marking the correct answer,
darken one circle by black or blue ball-
point pen only., Please do not mark on
more than one circle. Darkening on
more than one circle against an answer
will be treated as wrong answer.

Do not detach -any leaf from this
Question Booklet. After the examina-
tion, hand over separately the entire
Question Booklet and Answer Sheet to
the Room Invigilator. -

Each question carries 2 marks. There
is no negative marking for any wrong
answer. .

Possession and - use -of Calculator,
Mobile Phone and Pager is prohibited

in the Examination Hall.

For any discrepancy in the translated
version of any question in Hindi, the

- English version of the question will be

valid.

You should return the Question
Booklet to the Invigilator at the end
of the examination and should not
carry any paper with you outside the
Examination Hall.
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1, LetX fdllowG(n' o). Whatare the © ~'5. A~ commniunication system
~mean and variance of the gamma_ consists of n components, each
dlsf‘nbutlon respecuvely? ; ‘of  which will independently
. e function with probability p. The
(a;i n/o,n/o? ReP " “‘total system will be able to

(b) n/a, no(l-o) ~ operate effectively if at least

o 2 . .. one-half of its components
(€ o, a ¢ 7 function. What are the values of
) 1/a, 1/a? o P . p for which a S5-component
Rt ‘system is more likely to operate

, , effectively than a 3-component
- 2. What is the moment p{ about system?

origin in case of B m) G
distribution‘of first kind? @ p21/3
' ' | - (b) p21/2 |
m P hm | © psi/2
141 g M @ p<1/3'
: () nmo o Y T

6. A certam item is manufactured
- by three- factones, say I , II
and IIL It is known that dunng a

3., Let (xl,xg,xs,x.,, s) be a
multmomlal - variate - with

p;=1/5 for - every -..specified = production period,
i;i=123,4,5. What is the. ...factory I produces twice as many
covariance of X, and X3? “items  ‘@s “factory I and
@1 /5 i) -5 B .. factories II and_ I produce the
SO U - same number of items. It is also

(c) 4/5 -{d} 1 /‘54 known that 2% of the items

~’produced by I and I are
,‘fdefectwe ‘while 4% of " those

o

4. An 1tem is produced in large
" numbers. A machine i is- known to

produce 5% defecnves A quahty

control inspector. is. examining

the items. by takmg them at ’

random. What is the probability
that at least 4 items are to be
examined in .order to get 2.
defective 1tems? :

(@) 099 (b)>095
(c) 092 (d 0 90

| 'manufactured by ITare defective.

All the items produced are put

~ into one. stockpile; and then one
item is chosen at random. What

is the prebablhty that this item is’

a defecuve? ;
{a) 0015 ..
] ”0:0251

() 0030

 (d) 0050

s TPy




. nmf’m—xasrme(n o) B Iy s

- %mmmm R

(a) n/oz, n/,oc

() n/a, no(l-o)
{c) a, a‘z

@ 1/a, 1/&-2' |
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I+1 ‘ m+1
() l+m (@ I+m

LA R (X, Xg, X3, Xgy X5) O

wgedt frem B, vt % vow @ & R
pi=1/5 i=12234,5 X, ¥R

X 3 % ¥ wEweRw T4 87
@ 1/5 (b) -1/5
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aﬁngﬁamﬁ%wﬁmﬁ%
g sRerar waT 87

(@ 099 ) 095
() 092 (d) 090

A §

(d) 0-050 C

'S, uF waw A i e §, B @ TR

% e ¥ § w =@ A vl p

R\ oot o wrETelt & @ @ W,

IRk wH F ¥ FA-Y-FH oY

w41 p ¥ Am wn E, R forg
TF 3 9 a9 I I T 5
,maﬁmmmmﬁm

F it geTeE 27

(@) p21/3

(b) p21/2

@ p<1/2

- (d) p<s1/3

. SRl I, 0 IR I T g W

fFmfor el 81 78 30 § B o= T
frmior sty # %R 1 ¥ 0T
fiffa segett & @ T aegeit & Fmio
weft & aw SRl ook m suet
e 1 gt Pior et §) 9 ft

3wt R ¥R 1 iR I Ew ARl

aegelt # @ 2 whew gfe &, s
¥t [rEmn R awged & @ 4 whww

3 &1 it Al Tl T 3 E @
et & IR g w AgEwm =

MWﬁnmm%Wﬁﬁ
mﬁmm%’* f

(@) 0015
(b) 0025
(c) 0-030
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7 A chip- manufactunng company
employs 70% males “and 30%
females. ‘The probability of
defective chips manufactured by
males and females are 5% and
3% respectively. If a chip was
found to be defective, what is the
probablhty that it was assembled
by a female?

(a) 9/44
(b) 35/44 .
(c) 7/44
@ 5/44

8. The joint density of X and Y is

given by
fix y)= | | |
12x(2 x-y)/5; 0<x<1,0<y<1
0 ; otherwise

What is the conditional density

of X, given that Y =y, where
O<y<1?

L 6R-x-y)
(@) 2.3y
62-x-y)
(b) ~43y
( Sx@-2x-y) ‘i’_i’; =t
6x(2-x-y)

@ 4 -3y

/23-B

9. Match Listsl with List-II' and

select the correct answer using
the code given below the Lists :

List-I

. Ba for a normal

distribution

. U3 for a normal

distribution

. 4 for a normal

distribution

. Mode of a normal ;

disttibution
Code :
@A B C
1 2 4

(b)A"B C
'(c)Ak B C

@A B C

List-II

1. 36%

w g N O

L)

o o
e S

Ao
= e
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(@) 9/44 | B. W TWMRISHA Fpg | 2. B
(b) 35/44 c. @W'ﬂ.ﬁiﬁ\'u{ © 3. 0.
) 7/44 |
D. T M 424 H qged 4. 3
(d) 5/44 -
8. xsﬂt Y % Wy o fmn gom § w2
fx, Y= |
12x2-x-y)/5; O0<x<1,0<y<l ‘
{ 0 5 qq | . ' |
| (@ A B C D
Y=y, W& O<y<1 R gom 7 W 1 2 4 3
X 1 \yfeery e = 87
6@2-x-y) | :
&)—?;3;* . ' ® A B C D
: 4 3 1 2
62-x-y) |
(b) “4-3y A
o , () A. B C D
6x2-2x-y) | | 4 2 1 3
@ ey | o
@) 6x(:7;c—y) @ A B .C D
-3y 1 3 4 ?
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10.

There exists an experimental
station around which g@s many as
200 plots of same size produce
wheat once a year. In order to
estimate the average annual
production, following survey-
alternatives are under considera-

" tion :

1. To survey over the nearest
50 plots "

2. To survey over the furthest

50 plots

3. To survey over the nearest
100 plots

4. To survey over the furthest
100 plots

5. To survey over 200 bﬁ;ts'as a
whole

Which of the following is the
closest to the average yield
obtained in survey 5?

(a) Average of the averages “of
the yields in surveys 1 and 2

(b) Average of the averages of

the yields in surveys 3 and 4

(c) Average' of the e9eréges of
the yields in surveys 1, 2
and 3

(d) Average of the averages of
~ the yields in surveys 1, 2
and 4

/23-B

11 Suppose  B;= (Th1rd

central
“ moment)? "/ (Second central

v._moment);" is considered as a
‘measure of skewness of a data
- . with sample size of n with mean

10. If two more observations
each with a value of 10 are
further included in the original
sample, then consider the
following statements :

1. Variance of the new data =
Variance of the original data.

2. Skewness measure of the
new data = B;.

3. Variance -of the new data
={n/(n+2)} times  the
variance of original data.

4. Skewness measure ef the
n+2
new data = ( )Bl

Which of the statement(s) given
above is/are correct?

" (a) 1 only

(b) 2 only
(c) 3 only

(d) 3 and 4 only
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msﬂ"aérr

() w1, 231’!13%3%«
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(@) ¥ 1, 2 3 4 ¥ shwa
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(@) ¥ 1
(b)%ﬁiaz
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12,

13.

/23-B

Suppose we go on testmg the
longevities  of n electric bulbs.
Loﬂgevmes “are ordered as
Xy < Xgy << Xy T we
actually observed the longevities
up to rth bulb (r <n), then it is
the case of wb;ch one of the

following experiments?

(a) Random censonng experi-
ment- 3

(b) Truncation experiment
(c) ’i‘ype I censorihg experiment

(d) Type i 6;:nsoﬁng experiment

A random sample X,, X,, -, X,
is drawn from N (u, 1). Which one
of the following is an unbiased
estimator of p2?

(a) (__EIX,-/n]
(b) (_;‘lxi/n) ~/n)
(© (fg(x?/n)) o

(@ (le(xf/n))va/n)

14,

15.

Let Xl" X;Q’l".’

I (X, X g, e,

X, beiid. b(l, p)
random variables. Consider the
following statements :

1. Xis consistent for p.

| 2. A consxstent estimator of p

need not be unique.

3. Consistency means weak

consistency of X for p.

Which of the above statements

are correct?

{a) 1, 2 and 3

(b) 1 and 2 only.

(c) 2 and 3 only

(d) 1 and 3 only.

X,) is a sample
from Poisson distribution with
mean 6, then consider the
following statements :

.. n S :

1. X=YX,;/nisUMVUE of9.
S

2. X is the minimum variance
bound estimator of 6.

.38, s?= i(xi -X)?fn-1) is

an unbiased estimator of 6.
4. s2 is UMVUE of 6.
Which of the above statements
are correct?

(@) 1, 2 and 3 only
(b) 2 and 4 only |
(¢) 1 and 4 only

(d) 2, 3 and 4 only
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(a) IEEH GUS-TH TAT

}(b) ¥ A

13.

(c) TUH YA H GUS-TSiT FAT

(d) &fa vom = goe-TW

@mg%aam Xy Xo, o Xp
N, 1) ¥ fomn R Fefalaa & @

B-W G p 2w AR e 7

/23-B

. n .
(@) (in/n]
i=1
(b) (in/n,) -1/n
i1

(c) (f:lwf/n)]

(d) (Z(X,?/n)J—u/n)
i=1 ]

14. T B Xy, Xp, -, X, WA A

15.

ENE: qReA b(l, p) AGF N T

1. p% R X @i

2, 'p%@‘ma#mmwm
B sl T |

3. R W p ¥ o X f @«
i & o 31

g o Q-2

(@ 1,233

(b)) FE 1 3R2

() Faw 233

(d) Fae 1 3R 3

R (X, Xo, -, Xp) A é, Tt
wiE wed ¥ el R, @
freRifa FoRt w feR At

1. )’(:f‘,xi/n, 8 ¥ UMVUE

i=1

2l

2. X, 0 W =AW WOl uRery

W’%l'

3. s2= i X; =X /(n-1), 8
i=1 ' ‘
Il e B
4. s2, 0 UMVUERl
I FO A AN
(@) ¥ 1,233
(b) ¥Fa 2 4R 4
() ¥ 134
(d) %@ 2, 3 3R 4

[P.T.O.




‘16.

‘Match List-1 with List-Il ‘ahd
: select ‘the cotrect answeér using

the code given below the.Lists :

List-I - -
(Feature)

Larger the

. value of Type

1 error, the..
smaller is the

Type I error::
Testing

hypothesis

that the given "

sequence of
numbers is

random
Existence of

lower bound

| -to the mean

square error
(vanance) of

‘ ,estxmator of a

parameter
The proba-

bility of

accepting .null
hypotheis is a

E function of
-« true walue of

the parameter
Code :

(@
(b)
2
(@

A> NP> AP N

/23-B

}

MW AW NW AW

-List-II

| ‘ (Technique/ "

Estimator)

" 17"'Rao-Cramer
+ inequality

2 Famﬂy of

" 'Neyman-
Pearson tests

3. OC function

4.> Run-test
o
-3 1
G -D‘
1 3

C, D

1 B 3

10

17

- Xy, Xg,00

18,

‘Consider

For ﬁxed 8, fet X N, 1) and 6
have the prior N{u, 1). Then,
Bayes’ estimator of 6 given
» ans

© X+w/2

@ (X +p)/(n+1)

the following

statements :

1. Sampling error gives the
precxsmn of the estimate.

2. Non-samplmg error  occurs
v onily’ in complete enumera-

tion.

3. Sampling error can be
minimized by using better
sampling technique and
estimation procedure.

4. Non-sampling error cannot
be controlled.

Which of the statements given

" above are correct?

(@) 1 and' 4 only
(b) 2 and 4 only
(c) 1 and 3 only

(d 3 and 4 only
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A. YW YEHR A IR 1. ua—?mamﬁm |
AR o @) X+m
K @ X+ul/2

B. uftered & 2. WA-fda S S »
qign fF Rar wau aiEr S (d) AnX+p)/(n+])

TN wEms W | ‘

C. '& Y@ a; 3.. OC %eH “18. ﬁﬁmm“ '!ﬁﬁl'q
Iwed & IR 1. W R £ i
T A (FEW) - ' Y d |
> e e - 2. o g e gl o A

" Bl R
D. i 4, qOOY-qhE :
i@ @ (Run-test) 3. =St wiow
e w6 | e AR WM
R T & - s R W s
ERICHR: C R
Ty 4. R R A
%< S SR | |
@ A B C D b et 3 @ AR T
- 2 4 3 1 o |
) A B C D (a) Fae 1 3R 4
4.2 3 1 e o o
©) A B C D () 234
2 4+ 13 (c) Fast 1R 3
@ A B C D .
4 2 1 3 (d) Fas 3 3R 4
/23-B | 11 \ L [P.T.O.




19.

Under superpopulation - model |
generated

by all possible
combinations of the value Y,

'i=1,2 -, N; let each of the

20,

permutations be equally likely.
What is the correct sample
mean?, '

(a) Minimum variance unbiased
estimator of the population
mean

(b)
estimator of the population

mean

Biased . estimator of the
population mean

(c}

(d). Unbiased estimator of the

population mean

A population of size 100 units is

_divided into 4 strata with size 10,

-/23-B

20, 30 and 40, and variance 1, 2,

Minimum variance biased’

3 and 4 respectively. What is the

allocation of a sample of 30 units
according  .to.  proportional
allocation?

(@ 3,6,9, 12
(b) 1,
fc 2,6, 10, 12

(d) 4, 6,8, 12

12

If the correlation between the
response and auxiliary variables
is '0-50, then what is the
efficiency of the ' regression
estimate in comparison to simple
mean?

@ 1

22.

23.

(b) 4/3

() 5/3
@ 2

Under usual model
Y’l‘] =+ +b] +bxij +eij

analysis - of variance and
covariance table show that S,
and S,,, for error terms are 9 and
4 respectively. What
regression coefficient from error
line b? \

(@ 9/4

(b) 4/9

(c) 3/2

(d) 2/3

In case of Cauchy’s distribution

-00 & X <
xz)’

what . is the
distribution?
(@) é*

(b) e 1 xl

(¢ 1

(d) Does not exist

mean of the

is the




19. v;, i;Lz,---,Nurq‘i%mﬁm 21, IR swlew B wEEE 9 & o=

Tt @ 3o oy fredt % sl . WEEwRY 0-50- 3, @ W A #
a1 6 wrEEt d ¥ vyl ararE | QO R WP SeEH R gE
21wt witeyl arem . 27 27 :
' : ‘ (@) 1
(a) 98 WA H TAAW WO ®) 4/3
VT ST {0 5/3
' o (d) 2
(b) EmfE wre &1 =R TR AhEa
SR 22, qrry frest
o Yij=l’-+ti+bj+bxij+eij
i sTeheTe ‘
(o) it e ¥ IFrta T AT WE-TAW
| Tty areoft Rt @ f6 IR i %
- (d) W e S A M S AR S, FA: 9 3K 4 ¥
| | IR @ b A W AW T o R?
(@ 9/4 |
20. 3™ 100 $HEAT aclt Th qaiy (b) 4/9
FAY: JMM 10, 20, 30 AR 40 7 ) 3/2
TR 1, 2, 33N 4 I 4 WA ‘ ‘(d) 2/3

i T w21 srgwite Faaw

e 7 &7 | 1 |
f(-")é e rd) ~e3 < X <00
. {a) 3,6,9, 12 | o
- A¥E A e
(b) 17 4’ 9, 16 : | (a) elxl ‘
" () e l*l
(c) 2,6, 10, 12 |
. c 1 |
(d) TrEmm i A e

(d) 4, 6,8, 12
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24,

25.

26.

/23

Let- the variable X  have .the
distribution - ey

- PX=0Q)= P(X 2) p
and P(X=1)=1-2p

for 0< p < 1. What is the value of
p for var (X) to be maximum?

(b) -63/(6:165)

@ -0} /{6 +o2)03 +o3)?

(d) -1

In a randomized block design

~with 6 treatments and 4 replica-

tions, an observation
corresponding to treatment A in
the 2nd rephcatlon is missing,

Consider the followmg
statements in connection with
the analysis of variance :

1. The number of degrees of
freedom for the treatment
sum of squares is equal to 4.

(@) 1
() 1/2
(c 1/3
(@ 1/4
Let X 1s X 2 and X 3 be
independent random variables
with  variances 02,62, 02
‘respecuvely What* is the
correlatlon between X, - X 3 and
X, 4+ X5?
(@) © ‘

14

27.

2. The number of degrees of
freedgm for the replication
sum of squa.res is equal to 3.

3." The number of degrees of
freedom for error sum of
squares is 15.

Which of the statement(s) given
above is/are correct?

(a) 1 and 2 only

) 3only

{¢) 2 and 3 only

(d) 2 only

An experiment is carried out with
two-factor each at three levels.
The quadratic interaction effect
of AB is denoted by AgB, What

“is/are the d.f. ‘for AQBQ
(@) 9

(b) 4
c) 2

Sod)y 1 .

28.

‘inequalities

Consider a  BIBD with
parameters v, b, r, k and A.
Which one of the following
satisfies - the
parameters of a BIBD?

(a) &Zr
(b} bzv-r+1
(c) rzk

[d v=b




- 24.

e o X wraeA ?
P(X=0)=P(X=2)=p

PX=1)=1-2p

1
| aar OSpS2

25.

26.

/23

w2 2 2 %l

var (X) ¥ it 93 ¥ R p A
A R0 7 -

(@1

(b) 1/2
(¢ 1/3
d 1/4

& X, X, 3 X5 @A
Igfess W &, R wwor wn
X,-X5 @
X o+ X5 % 9 ggawry ¥4 27

o{, 05,03

(@) O

(b) -62%/(0102)

© -03/{o?+oDi3+o3)?

(d) -1

w ArgfRws aues ifteedr #, Rt

6 3TN 3R 4 vRrfmf &, SR A @

m@ﬁw&@ﬁmm%l

- @ gwfia fafafea

aawﬁqtﬁanﬁf%m: :

1. =R F-am % R ww=-
HfAt f wE 4 B

15

2. wRpl wi-am ¥ fw w@mws-
Hifet 6 w=w 3 R
3. IR wi-am F fw w@EA-
Fifeat fi @@ 15/

e ot 3 & A-aA wh B/
(a) mmﬂw
m) ¥
(c) ¥aw 2 3R 3
(d) ¥a2

27. A Swer A, Rt ¥ TR Al W

2, wh wm R T 31 AB w1 fiEm
It WM ApBg @ gfa T
S 81 AgBo Ft wa-hife et
T 8/87
. (a) 9
(b) 4
(c) 2
(d) 1

28, WSt v, b, r, k 3R A AN TH

BIBD ® fEm #ifiw| fFfataa
 argfyeet # @ w9-Hi @ BIBD &
TSl G R

(@) Azr
(b) bzv-r+1
(¢ rzk

d vzb

[P.T.O.




 Directions : }

The following two (2) items consists of
two statements : one labelled as the
‘Assertion (A) and the other as
‘Reason (R)’. You are to examine these
two statements carefully and.select the
answers to these items usmg the code
given below : :

Code : : .
(a) Both A and R are
individually true and R is the

correct explanatlon of A

() Both A and R are
individually true but R is not

- the correct explanation of A

(¢) A istrue but R-is false
(d) Ais'false but R is true

29 Assertlon (A)

Correlation ratlo is used to
measure the ' extent of
relationship between non-
linearly related variables.

Reason (R) :
The absolute value of the
-correlation ratio can never be
less than the absolute value
of the correlatlon coefﬁc1ent

30. ‘Assertio'hf (A) :
For distributions having MLR
property, a UMP test exists
for testing = one-sided
hypothesis.
Reason (R) : ,
All exponential . family of
distributions possesses MLR
property.

/23
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31.

32,

Let X follow U, 0+1)+The
estimatqr

T={Xy+Xpm-1/2

where X, and X, denote the

- minimum and maximum
‘observations. respectively. Which

one of the followmg 1s _correct?

(a) T is unbiased for 6

(b) T is sufficient for & :

(c) T is a moment estimator of 8

(d) T is an MLE of 8

If a quantity @ (T, 6) exists, whose
distribution is independent of 6,
then consider the following
assertions :

1. ®(,08) is called a p1votal
quantity. -

(T, 9) is a statistic.

@ (T, 0) is used. to construct a
1-0)100% confidence
‘interval for 6.

Which. of the above dssertions
are correct'?

(@) 1 and 2 only’

o (b}’2‘énd 3 only
() 1 and 3 only .

(d) 1, 2 and 3 only

BN ot
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17

31. W1 5 X & §e U 6+1) B

@) T,

s2. R oM
| ~ﬁ9¥nﬁa?€f%,ﬁﬁ‘
] wiEr e

T= {X(i) + X -1}/

%,;"ﬁ Xm R X(ni it
frafafas &

aftraw Yaor §
F-91 T |E 87

(@) T, 6% fe smfva

() T,0% Rmwaiwd |

N

=

2w 31
kil

€ T,0 mamgﬁ T

ATHF &

1. @@, 6 & Ul
S I _
2. @, e)@;r%z?h

3. ®,6), 8 * (1-&),100%
v S B @ ¥
IR FoA A { B8 w@ R
(a) e 130K 2
(b) ¥t 2 3 3
() Faer 133
(d) 1,233
[P.T.O.

0 w1 fterw  wrTfe

TR (T, 6) B e T 2 Rres s

AfeRea el
qfT wEew]
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33.

34.
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The observations 12, 20, 24, 21, |
16, 14, 27, 10, 18 are recorded at
random from a normal

- population with mean M and

standard deviation 9. What is the
shortest 95% confidence interval
for M? ’

(@) (9, 27)

(b) (15, 21)
(c) (1212, 23-88) .
(d) (13-05, 22:95)

In a population, 50% births are
male and 50% female. Ram
claims that he can predict the
sex before birth. To verify
whether his prediction " is a
random guess or has a genuine
basis, it is decided to match the
sex of 10 actual births with his
predictions and reject the
hypothesis of a random guess in
case of 8 or. more correct
predictions. What are the Type I

_error and power of this test

procedure respectively for the
alternative hypothesis that 75%
of his predictions are correct?

(@ 7/128 7x@/4)°
(b) 7/7\128,‘1—7><(3/4)9
(€ 11/2'°), 13/49x@E/4°

(d) 11/@'), 1-13/4x@3/4°

18

35.

36.

ow

400 units were classified into 4
categories A, B, C and D, and the
observed frequencies were 185,
100, 80 and 35 respectively. To
test if these frequencies conform
to the proportion 9:3:3:1;
what are the test statistic and
the critical table values
respectively?
(@) [64/9)+(26/3)+4]and %3 ,
(b) [64/9)+(26/3)+4] and %3
(c) [B820/37)+(105/16)+(20/7)]
and 14
(d) [(3820/37)+(105/16)+(20/7)]
RN v
and x3,a .
where P(x2 > 32 ,)=a and x2 is
the chi-square variate with n d.f.

and o is the level of the test.

Match List-] with List-Il and
select the correct answer using
the code given below the Lists :

List-I , List-II

Pivotal 1. Sign Test
quantity B ,
Goodness of fit 2. K-S Statistic
Test for 3. Wilcoxon

quantile Singed Rank

(@)
o)

Test
4. Confidence

S Interval
Code :

()
(d)

NPBBND LD
SUNWAENW
~FOWOWO~O

B L el e




33.

ey M 3R weE fmem 9 areft o
THHFT @EiE | Yewr 12, 20, 24,

21, 16, 14, 27, 10, 18 Argfesee:
sffrfen By me &1 M % fore wgam

' 95% T simue = 87

(@) (9, 27)
(b) (15, 21)

() (1212, 23-88)

34.

(d) (1305, 2295)

fimh wEE & 50% weE! 3R 50% .

TRt & 0 & At 1 UW & qmEn
t e a ww A @ @ A owmRe

I AE 2| T g w0 % R

& suh wmfs o agfeew ogam R
I A B IWIOE IMUR R, 10

e 9 fwst & fomt = swh

- ymfee & we gAfe wen @@ R

/23

T 3R 8 I arft Wl ympRet % BR

R ARREE IR N aiEe W
Froertor fran smar 81 Al aitweu
¥ fore T sweh ympfeat 75% @& £,
T weu ik i e TEE YER
#i g iR g w7 &7

(@ 7/128 7x@3/4° '-
(b) 7/128,1-7x(3/4°
© 11/219), 13/ 49xE3/4°

(d) 11/@1%, 1-03/49x@3/4°
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35,

R WET FA F

400 Fe1gat W 4 T
# afiga foem mm afix
¥HI: 185, 100, 8

ILERAT  IGIT 9
IPES 8, T i
TIoft A A w%‘?
(a) [64/9)+(26/3)
(b) [64/9+26/3)
(c) [320/37)+(105
L 7
(d) [320/37)+ (105

M 23 4

J& P2 > %2 q)=

A, B, C3R D
it SR
0 3R 35 +f
R f& =1 ¥
:3:3:1 &
e R W<

+ 4] 3ﬁl‘ xﬁ,a
+4] 3ﬂ'{'x§,a ,
/16)+(20/7)]

/16)+(20/7)]

a 3 x2, n

@ A g FwE-w 8 R

e 1 /W B
36. gft-1 = gE-11 & @iy gl A
iR it & e Re e g @ o
R g IW ghw
w1 whn
A. 3l uf¥t 1. Twm
B. GuSH-ggal 2. K-S wfiestst
C. e & fow 3. foowieam fufga
e I e
V 4. fyarEa e
He
@ A B C
o 4 2 1
) A B C
‘ 2 4 3
) A B C
4 2 3
d A B C
2 4 1

[P.T.O.




37. Let X follow N, 1), Hy :p5~1

38.

39.

/23

and H;:p=+1. The SPRT with
a=0-05=f rejects Hy if, after n
observations

(@) X =(logl9)/2n

(b) X =-(logl9)/2n

© 3 X, >(og19)/2n
i=1

(d) i X; 2 -(1og1§)/2n
i=1 :

In a 2x2 contingency table if
(A) = 50, (AB) = 30, (B) = 40,
N =100, then what will be the
Yule’s coefficient of association?

(@) O b) 3/4

© 5/7 @1

‘What is the relationship between

the correlation coefficient r; of
the data ' ,

X1215161|8110
Y [10(10[12[12]15

and the correlation coefficient r,
of the data

U 101]04]/05]0:7]09

Vil 113]31]6 ?
(@) n>r (b) n<ry
() 10n =r, (d n=r,

40. What is the  Spearman’s  rank

41.

correlation coefficient when the
ranks of the two series are (1, 2, 3)
and (3,1, 2?7 '

(a) 1/2

(b) 2/3

(c) -2/3

(d) -1/2

For fitting a curve of the type
y=ax+(b/Xx) to a set of n given
points, the following equations
are given ‘

n L n 2
1. Yxy)=a) x|
=1 ; i=1
. . n ‘ ‘ . n
2. 2 (xl-yi) =nb+ QE xiz

i=1 i i=1

3. bg_.(l/,x,%) = 21 i / %)

- 4. na+ bi (l/xf) = i y; / x;)
e

i=1

Which of the above equations are
the least square equations?

(@) 1l.and 2 only
(b) 2 and 3 only

(c) 3 and 4 only

(d) 2 and 4 only




37mq1ﬁ5xwaz=rzv(u,1)%

- 38.

@0

- 39,
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Hg:p=-1- 3R Hp:p=+1 %
0 =0-05 = % & Fgehitren WIRrkar

IIE T (SPRT) Ho &1 T

(@) X =(logl9)/2n

() X z‘—(log19)/2n

%(c) ZX 2 (log19)/2n

i=1

@ 3 X;2-(logl9)/2n
i=1

TH 2x2 AT greft # = (4) = 50,
(AB)=30, (B)=40, N =100,
I WTE=d U 1 Em?

(b) 3/4

(c) 5/7 (@ 1

i

X |2 516148
y 101101212

¥ WEwaY TOF ry SR T

10
15

U 101104{0-5|0-7]0-9
viiji1i3ls3le

77
@ n>ry ) n<n
(d n=ry

(cj 10n = r

%WW ry % o9 TR R

21

40. fRmt PR wewwra Ui w2,

(@)
M

41'

vEth @ v

G, L2%

1/2
2/3
© -2/3

(d) -1/2

et (1, 2, 3) R

y=ax+(b/x) TR & o WA F
m’ I" l‘%”@ﬂ WW’T&Q‘N%.

n n‘ 2
L Y xy)=aY x;
i=1 1

i=

n. .
2. Y (xy))=nb
i=1

3. b:‘_‘,a/xf);
i=1 {

i .
4. na+b) (1/x
i=1

I el § §

e &7

(@) Faw 1 3R 2 |
(b) Fa@ 2 3R 3

() %r«m 334
(d) ¥a@ 2 i 4

=3 Wi / x:)
i=1

FH-Q JEaH T

"[P.T.O.




42. Suppose a population consists of
only 5 units with the values of a
characteristic measured on them
given by 2-1, 36, 42, 2:8, 2:3.
What is the mean of the means
of all possible random ‘samples

(without replacement) of size two.

drawn from the above
population?

(@) 3
(b) 285
(c) 220

(d 2

43. If X follows N (0, 1) and Y follows
x? with n degrees of freedom
which are independent, then
which one of the following
statistics has t-distribution with
n degrees of freedom?

nXx
Y

(@)

JnXx

(b)ﬁ

(c)

(@) .X«/E

/23

22 .

44, Suppose that in a particular

sample, a set of possible events

E,, E,, -, E, are observed to
occur  with frequencies
01, 05, *+, 0 and that according

to probability rules they are
expected to occur with
frequencies ¢, e,, .-+, e, respec-

tively. Which of the following are

the measures of the discrepancy
existing between observed and
expected frequencies supplied by
the x2 statistic?

k

L Yloj-e;)? /el
j=1
k

2. 2_:(0 /ej)- Ee

k

Xle} /o))~ Z 0;
S =}

Select the correct answer using
the code given below :

Code :

(@) 1, 2 and 3

(b) 1 and 2 only -
(c) 2 and 3 only
(d) 1 and 3 only

45. Let X, X, X3,X, denote
' independent standard normal

variates. What is the distribution
of Y = (X, -Xs)/,/(xg +X2)?
(a) Students t with one d.f.
(b) Students t with two d.f.
¢ F22)
(d) N©2)

P T T




42.

- 43.

/23

a6 o wufd & daw 5 gl §
M w1 T w afeEe ¥ A
2:1, 36, 42, 2:8, 23 Rugu 1
g ¥ My A F oWt §E
(yfoerm fRa) aefes whewt &
e} T AT 4T 87

(@) 3
(b) 2-85
c) 220

d 2

IR X FEA N (O, 1) % 3l Y s
n @A Hiedt awen 2 3, s f
wax &, @ FrafiRea & & ®F-w
yfiexts 1 9o n W DA Fen
t-9eT 87

Jnx
Y

(a)

X

(b)

c)

(4) XJn

44, 71 & = O wied 4 wem

o k k
2 Ylo?/e)- e
j=1 J=1

9eA Ey, Ey, -+, By T 9=
ACARATS 0, 09, -+, 0 H WY ufeq
T M gom ® i Wit framt &
IR TFH  FEAN:  SERarsit
el,ez,---,ek%mvmmﬁﬁ%l

- Pefafen & @ 3@ ooyl

TreEraret & g § faEnfa & sF-a
e x2St g g e 2

k
1. Yloj-ej)?/ej)
j=1

k 2 k
3. 2[(ej XKNEDXT
j:l J=1

- ﬁmmgmwwmwml

45.

(d) ¥ 133

g

w2 :

(@ 1,2 3R3
(b) Faw 1 3R 2
c) %aw 2 3R 3

% X, Xo, X3,X 4 W6 WEE
A ek §)

Y = (X, - X3) /(X2 4 X2)

(b) DA @ aﬁﬁzﬁ anT -t
() F2) ,
(d) N, 2)

[P.T.O.




46.

The d:stnbunon for which mode -

- does not- ex1st 1s
(a) normal

(b) t

) F

" (d) continuous rectangular

47.

49.

/23

Pearson coefficients for a normal
distribution are

(a) 61 =0762=3:r1 =0, r2 =-3 ‘

B By=0,B2=5,11 =013 =0
(c) B, 50, B, =0,n

(d) B,=0,B,=3n

=0, D) =3'

='0, Ty =0

If each value of a series is
multiplied by 20, the coefficient
of variation will increase by

(@ 5%
(b) 10%
€ 15%

(d) 0%

The assumption of equally likely
outcomes : is associated with
which deﬁmtiqn. of probability?

(a) Statistical

- (b) Mathematical

(c) Subjective
(d) Axiomatic

24

50 Two ‘dice are rolled by two

players A and B. If A throws 10,
then the probability that B

‘throws more than A is

@

51.

52.

(b)

o=

o A

()

(d) None of the above

Probability of drawing a unit at
each draw remains same in

- which sampling scheme?

‘(a) SRSWOR

(b) SRSWR
(c) Both (a) and (b)

(d) None of the above

Factorization theorem for

sufficiency is known as

(a) Rao-Blackwell theorem

() Gamer-Rao ‘theorem

(c). Chapman-Robins theorem

(d) . Fisher-Neyman theorem




‘ 46.

- 47.

48.

49.
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ﬁmma@mmqﬁam,
kK ‘ ;

(a) TR
®t
(c) F |
(d) waq |

o TR g ¥ R v s
(@ By=0,Ba=3nr=0ry=-3
() B1=0,By=3r=0r,=0
() By=0B2=07=0ry=3

(d) B1=0,f=3,n=0r=0

I freft Aoft & enft et # 20 @ o
fFn sen }, @ sud feRor one ®
3fg Bt

(a) 5%

(b) 10%

(c)-‘15%.

(d) 0% -

R aRormt Y A TR %

T wformn & Tl #7
(a) wiferREa

(b) TR

(c) =afwFe

(d) SPFEE

. 28

50,18 R A o B E:m & T

© 3

51,

52.

b <

wfved § Wi @ @

- (d) Temm-Hita

%% o §1 AR AW 10 37 Wi ga,
W BHRAY R FF AR H
BUREE S

1

@5

1

(d) SEHA I TE
fra e vl @ Bt T
v IR T
sfﬁmv@?ﬁ%? . '
(@ SRSWOR
(b) SRSWR

(c) 3 (a) 3K (b)
(d) Iod % & = Tt

wiwar ¥ ford qumEved wia @ S

S

(o) TE-SAe T
(b) FR-TE Slﬁax_ '
(c) Auia-TRra W

[P.T.O.




53. Identify the statement which is
not correct :

' (a) Correlation coefficient is the
GM of two regression
coefficients

(b} Correlation and regression
coefficients may not agree in
sign

(¢ AM of two regression

coefficients is greater than r

(d) Cov(x,y)=0if x and y are
indepdent variables

S54. If r(x,y)=0-8, then
- percentage of variation of y will
be explained by the regression
line of y on x?

(a) 80%
(b). 40%
(c) 64%

(d) 20%

5§5. If X~U(@1], then
distribution of Y =-2log X is

the

(@) X(22)

m U2

(c) exponential
(d) N@©1)

/123

what

26 .

56.

Let
(X,Y) ~BVN{,, uy, 62, 62, p)
[

Then E (X |Y = y) will be

(@) Ml‘*‘P'S‘i'(Y‘ﬂz)’

(b) W1 +p2 —pi,)
03

(o 'u2+p%f—(Y-u1)

57.

58.

(d) u, +-p93(Y-u1)
(o] )

In SRSWOR,‘the f.p.c. is

N-n , N-n
@) —% (b) \/ =

N ~ n
(© n-N (d) N-n

In stratified random sampling

~ with proportional allocation, the

59.

constant of proportionality is

N; n
(@ — B 5
n; n.
—i d) —
@ @ —
“The aﬂalySis of Vaﬁaﬁce

technique was introduced by
(a) Irving Fisher '
(b) Ronald A. Fisher

(c) Karl Pearson

" {d) C. R. Rao




53. I8 %o F e+, <t wdt i @ - 86, AR

(@) wEE i A wRE (X, ¥) - BVN@y, kg, 67, 0% 0
Tt T GM B %,aﬁE(X[Y:y)ﬁfn
(b) WEERY T T W IO (@ wi+p=EE -ps)
F fug o Al oft & wwa & 2
‘ %2y _
(c) ﬁ‘ﬁwmt[“ﬁﬁﬂAM, r¥ o p.1+p61(Y kel
l W‘Eﬁm% Go
' . () parp— = -py)
' @ M xw oy WD, A .
cov (x, y) =0 | (d) u2+p';%(Y-u1)

54. 'q-ﬁ r(x,y)=0-8 %, ?ﬁ y * x T 57. q@%ﬂ’? yfeerm (m

T Y ¥y W R YR | ﬁl‘&)ﬁf.p.c.@m% |
' maﬁhm? . N-n ‘ "\[N=-n
- . @y 0 5
80%
(@) (€ — ivN (@) -N'i .
- (b) 40% |
) 64% 58. v Wi Wgw | W, St
~ - swgufes fae & agq ], FEwiE
(d) 20% | fari F a 2
| -. | @ m l:;_.
55, M X~UO Y, @ Y=-2logX ® n i
R N n
(© N (d) =
2 o
@ xa 59. ToU fawww el ® R
. . yiowfea fra?
o ue2) . (o) wfmfER
— (b) ATes €. fHER
RTATER |
“ : : (c) H
(d NG | (d) €. I, &

/23 27 [P.T.O.




60.

61.

62.

In a Latin square, if the degree of
freedom of TSS is 15, the degree
of freedom with row sum of
squares will be

(@ 12 (®) 9
(© 6 (@ 3
If the \COfréléﬁon coefficient

between X and Y is t1, it implies
that the two regression lines will
be

(@) perpendicular
(b) parallel
(c) dgin‘cident»

(d) None of the above.

L4

“If x;, X5, X3, x4 is a random

sample - from:° ~a = normal
population, then which . of the
following unbiased estimators of
mean is most efficient? -

(@ x

‘ 2. .2..2..2
o Jxl tXptX3+Xxy

/123

1 Lo e ;
(c) -62(351+x2+x3"‘x4)'2v

1. e e
(d) Z(x1+x2+x3_+xm4)

63.

64.

65.

66.

“(a) Neyman’

" (b) Rao-Blackwell

‘Missing
completely randomised design

Which of the following pairs is
not correctly matched?

- factorization
theorem—Sufficient esti-
mator

theorem—
UMVU estimator

(c) Cochran’s theorem—UMP

test
(d) Markoff’s theorem—BLU

estimator
In simple v‘ra‘ndom sampling,
without replacement the
‘'standard error of sample mean
vanishes if

: N

fa) n=N - (b) n<v—4-
cj n>— d n= %’—

Which one of the following
sampling schemes can be said to
be partly probabilistic and partly
non-probabilistic?

(a) Stratified random sampling

(b) Simple random sampling

(c) Systematic sampling

(d) Cluster sampling

observations in a

are

(a) estimated

(b) eliminated

(c) guessed

(d) None of the above




A
wwéﬁ#aﬁmﬁu&m% - 63, Fimfefae got 4 F-w @ g
@ Hifd w1 WA 15 8, @ RSS : ¥t 37 ' |
Eﬁ»“““ et gt (o) H TG - S
(@) 12 () 9 (b)) TA-RAEAT  T—TF A
(c) 6 -~ d) 3 (c) FHFH TAG—TH | GUFG: AT
. - olewm S
S d) TRH IR
61. IR X IR yH = wgwww qE W @ qus ‘“mm
mil%ﬁ‘?mmﬁ%ﬁ:ﬁ:ﬁ
'mm‘miﬁ'h 64. wnfr RfY ¥ fd T R ww@
o - ufee witeet # syt wrer Y wme
(a) _ /_ gﬁm‘éaﬁﬁ%mﬁ ,
o @ n=N @ n<y
(c) = ; ; ‘ \
| © n>—3”£ (@ n=—’2‘1
(d) 39g® d 4 i T ) - Lo :
: 65. M Ry 7 vfesw ynfot & feat
62. qﬁ Xy, X9, X3, X4 '@m EIZ-'-T 7 mﬁ; m Q.a m
¥ o oaeE ufwed R, @ SRS HEN?
Preafefan sfFwe smwes § #H- (o) e AR SR
’aa%wm%? | (b) W TR SR
(@ x (c) muﬁmﬂ
' (d) TfEsa whreA
Jx12+x§+x§+'x§ _
() 1o 66. freht it AgfrdiFn e #
- YW AL i '
- (c) -l—(xl‘+'x2+x3+x4)2 @ mmm%
647 (b) ‘T R v &
o1 (c) A TR ST
(d) Z(x1+x2+x3+x4) ; (d) Wﬁ%ﬂa’g

/23 a9 [P.T.O.




67.

68.

69.

70.

71.

/23

(@) x?

All contrasts' representing ' the
effects .in  a  2"-factorial
experiment are

(a) linear

(b) 6rthogonal ‘

(c) Both (a) and (b)
(d) Neither (a) nor (b)

If different ~ effects. are
confounded in different blocks, it
is said to be

" (a) complete confounding
_ (b) partial confounding .

(c) balanced confounding
(d) None of the above

If the variance of a yx2-variate is
8, its mode will be
(@) 2 (b) 4
() 6 (@ 8

For testing the. hypoi:heSis p=0,
which test-statistic is used?
()t

() F (d) z

If X ~U (g, b), then its mean is

R
© b“‘ (d) Jab

72’

73.

74.

A béta variate of second kind
ranges from -

{a) O to o
(b) —o0 to +o
(¢) 0tol
(d Oton

If the mean of a beta distribution
of first kmd with parameters m

“and n is 1 s then

(a) m n .!:i

m T e—
(b) 2
(c) m=2n (d) -m=3n
In testing the equality of
variances of two normal popula-
tions, the following sample
informations were . available

ny =6, ny=9, sf=15 s2 =24

 The value of F-statistic will be

75.

76 .

(@) 1-60
(€ 1-50 .-

(b) 2-40
(d) 1-80

Which one of the following can
be obtained from a histogram?

(a) AM

(b) HM

(c) Median |
(d) Mode

If the geometric .and harmonic
mean of two numbers are 28 and
16 respectively, then their AM is

(a) 22 (b) 28
(c) 16 (d) 49




67.

68.

% o"-wgeE T ¥ W Rt

St yE W e W §, 3w
oot 2

(@) aw fauaia

(b) wifers fawaty

(c) 3t (@) @ (b)

(d) T (o) 3T (b)

fafirm et Y sR frm-Pr e &
i fwa < 2, ﬁsﬁﬁ%%

(@) T E

69.

70.

71.
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(b) ATEH TH
(c) wgira T -
(d) 3w & & B

IR T 2-9 W T 8 ¥, A IqH
L ENER
(@) 2
(c) 6

(b) 4
(d) 8

aReT p=0 % wdEw ¥ B

"mhaﬁqﬁmﬁmﬁmw
27

(@ x> (b) t

(c) F d z

TR X ~U (g, b), 9 7o me

’ b-a b-a
@ —— b) ——
@ 2% @B

31

720

73.

74.

75.

76.

Tt e % <fter < =y wem R

(@) OF oo

(b) —o=Wtoo

c 0”1

(d 0¥n
aﬁmm%mmmw
m 3R n%mmwl%,a‘t

(@ m=n (b m‘=12‘-
() m=2n  (d m=3n
A TA §ET F T H TAAT F
wigw g, Frefafan | ied gl
m%:

n =6, ny =9, s? =15, s3 =24,
A e FR A am

(a) 1-60 (b) 2-40

@ 150 (d) 1-80
fFrafafea & @ R satm 6t wee
¥y 3 W wehar 27

(@) AM

(b) HM

(c) wfeEm

(d) =g
IR A wEmd W OIIW W e
mer e 28 3R 16 B, @ SEe
TR WIe .

(@ 22 (b) 128

(€ 16 (d) 49

[P.T.O.




77.

78.

i X and 'Y are  independent
variables having same variances,

‘then which one of the statements

given below is not true?
(@ V(X+Y)=V(X-Y)
(b) Cov(X+Y, X -Y)=0

(e) Cov(X,X+Y)=V(X)

@ Cov(X,X-Y)=-V{¥)

If X, and X, are independent
Bernoulli  variates with
parameter 0, which one of the
following = statistics is
unbiased for 6?7 :

@ T=X,

79.

/23

(@) 9

o X{+X
(b) Tz?“"‘"“"‘lz 2

¢ T3 = Xfx 2

(d) To=X;

Which one of the following
statements is correct in case of a
normal distribution?

(@) Mean = Variance

() Mean > Variance

(c) Mean < Variance

(d) No relationship in mean and

variance

not

In a normal distribuﬁdn; the 4th -

central moment is :243. Its
standard deviation is. -
() 3

(c) 6 (d) 81

32

81.

82.

83.

84.

85.

(b)

The skewness of a binomial
distribution will be zero if

1 1
(a) pP<3 ‘(b) P>
© p=3 @ p<aq

The 'limit of Bowley’s coefficient
of skewness is

@ (-1
(c) 0. .

) 0
(d) 33

‘Which one of the following

testing situations is being
examined with Bartlett’s test?
(@) p1=p2 =Pk |

(b) 6% =62%=-02
@ =Hg=he
(d) [31 =§2 = By

Order statistics is'a sequence of
(a) observations

() ranks

(c) natural numbers

(d) integers

If the sample sme is large in
Wilcoxon’s signed-rank test, the
statistic T* is distributed with
variance '
@) n(n—;)‘(}Zn—l)
" nn+l)(2n+l)
24

nRn+1)

12
nin-1)2n+1)
" 12

(c)

(d).

tdy




77.

78.

79.

80.
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(c) 6

A @GR R XE V& @

o ¥, @ PR v d 2

- w27
(@) VIX+Y)=V (X -Y)
(b) cov»(X+Y, X-Y)=0

o) cov (X, X+Y)=V(X)

(d) cov(X, X ~Y)=~V{)

AR x, ok X, & e aekeh o,
sReddst § Mmoo F R sl
T | |
(a) Ty = X,
X1+X2

2
(€ T3=XX,

(d) Ta=Xg.

(b) Ty =

Fefafga woat & ¥ *H-w FE
Forelt AT W2 & ael # wdt 27
(a) WTST = SR

) e > v

(c) WA < FEw

(d) mwaﬂzmﬁaﬁimaﬁf |

R Bl yame e @ g B

el # AW 243 R, @ WH AE
e g .
(@) 9 ) 3

(d) 81

33

81.

@ p<i
82.
@ Ly

' 83.q.;:

' 84,

' (d) TEm

85. AR et ffw-

©

| %" §&A 1 JE Em
(a)

)

@

w e 4 Av Y A, AR

z O

© p=5 @

®)
@ 0= @

T vhaw N e

P>

pP<q

et 3 Aw i ) o &

01
3. 3)

¥R d

witfeuferat & & Rree gheo w27

(@) py=pa=-pPk

2_.62=...¢g2
(b) 0] =05 =0

() ny=ng=-pg
(d) By=Bo=-PBx |

AR ST &
(a) FFAFA B
(b) e

(c) Wi Tl

yftrest #1 R wE B,

nin-1(2n-1)
24
nn+1)2n+1)
24
n@n+1) -
12
nn-1)(2n+1)
12

Hife whew A
o witestsr 7+

[P.T.O.
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87.

89.

90.
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Given that N =250, AB =70,
A=80 and B=100 for two
attributes A and B, which one of
the following statements is true?

(a) Data are consistent
(b) Data are not consistent
(c) A and B are independent

{d) A and B ‘are negatively ;

associated

If X has a Poisson distribution
with E(X?)=2, then P{X =0} is
equal to ' o

(a) P{X=1 (b) P{X=2
(0 P{X=3} (d P{X=4}
If byy =-0-2 and bxy._—os
then r(X,Y) is .

(aj 0-16 (b) 0-4

c) -0-4 (d) -0-16

In a 3*-factorial experiment with
block size of 32 the total number

of confounded interactions will
be

() 3
(c) 4

(b) 2
(d 1

One block of a 24-factor1a1

- experiment with a block of size 4

is given below

1, abc, abcd, d

Then the confounded interac-

tions are
(@)
(b)
(e

(d)

ab, ac, be

ab, cd, abed
cd, abc

bc, abed

34

91.

If in a Latin square with four
treatments, two more treatments
added, then the increase in error
df. is

(@ ‘10 (b) 14
(c) 6 (d) 8
92. Following are the few columns of
ANOVA table of RBD :
Source of | Degrees of| Sum of | Mean sum
variation - | freedom squares | of squares
Blocks 4 12 3
Treatments X 15 | Y
Errors 20 | 60 3
Then the values of X andY are
{a) (5, 3) ‘
(b) (5, 5)
(g (4, 3)

93.

(d) Insufficient information

The incidence rhatrix of a BIBD

is given below

1000101
1100010
0110001
101100 0|
0101100
0010110
0001011

If v b,'r,‘k and A are the
parameters of the design, then

‘the values of parameters are

(@ (7,7,3 31
) 7,7, 4, 4,))
¢ (7,7,3 3 2
d) (7,7, 4, 4,2




87.

88.
.

89.

90.
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. A3 B3 i % R R g d B

N =250, AB=70, A=80 3R
B=100 @, Fmfifea ww i § @
PA-U1 G 2T

Miﬁﬁ@ﬁ%

(b) RS IrET &

c) AR BEaA &

(@) AR BEwTEm AR

AR X, B(X %) =2 % 99 @A e |

R, W@P{X =0} WA

(@) P{X=1
() P{X=3

(b) P{X=2)
@ P{X=4

MR byy.=-0-2 A byy =-0-8
/A, W@rX,Y)3

(@) 0-16
) -0-4

(b) 0-4
(d) -0-16

| 1,-abe, abed, d

¥ axtar T ) TEeR dERA -
forard £

(a) ab, ac, bc

(b) ab, cd, abcd

(c) cd, abe

(d) bc, abed

35

91. fft IR IR T AR
IR @M M | R

92.

Tt &
.(a) 10
{c) 6

(b)
(d)

RBD & F© ANOVA

Frafafea € -

= @t ] & AR
W@, HifeAt

I 1 5§

@aT-HET

" wf a9

arey ¢f I

GUEh

4 12

SR

X 15

gt

20 60

93.

X o y % AM R
(@) (S, 3)
(b) (5, 5)
(c) (4, 3)
(d) ot gEA

fdt BIBD i fammw
THER AR :
10

O = O =+ OO
= QO = = QO O O
O = = O O O =

O O O = O =
QO O = O =

HﬁuhnkSWX
g €, @ S A €
(@) (7,7,3 3.1
) 7,7, 4 41
(¢ (7,7,33 2
d 7,74 42

= O O O = O

-0 O O = O m

Afwa R W™

[P.T.O.




‘94,

95.

96.

(a) V(yn« —Y‘NN .

‘Which of the following is not a

random number table?
(a) Fisher and Yates

(b) Rand corporation:

(c) Kendall and Babington
(d) Yule

In SRSWR

' _N-1,
(b) V(yn)—'—'Nn S

© V@)= mrs?

@ VGn)=5r=s?

The moments of which of fhe
following distributions do not

- exist?

97.

/23

(®)

{a) Gamma |

(b) Cauchy -
(c) Beta
(d) Chi-square

A cyclist pedals from his house
to his college at a. speed of
10 miles per hour and back from

the college to his house at
15 miles' per hour. The average

speed is

(@) 12 mph -

12:5 mph

(¢) 13 mph"

(d) None of the above

‘36

és

99.

For a symmetric distribution, v

Bl is. ,
¢ >0 (d <0

Which of the followmg relations
is true?

(B2 +3)o
2(5B, - 651 +9)

(@)’ Mode' =

(b)) Mode = ‘/_(B2+3)°

2(5B, - 6B, -

_ _Bi(B2+3)
() Mode = 3068, +6B)

@2 +3)0'

(@) Mode =2(6l31+5l32—9)

100. The ASN function of SPRT is

approx1mated as

0 -
(@) E(n)-LOoeB+-LE)logA
o E(Z)
L(G)iog4,2+ [1- L(8)]log B
E(2)

(b) E(Ny=

[1-L(8))log B+ L{B)log A
E(z)

(c) E(N)=

Li6){log B +log A
" E(2)

@ E)-




94,

-98.

96,

97.

) VEn)=

ﬁnﬁﬁaﬁ#-ﬁmg%m@mg;

(a) TR qon A4
(b) & FERTA

(c) st qu e
(@ I

SRSWR #

N—nsz‘
Nn

(a) V(yn) =

N-1_,
) VGn) =
Nn
N-n
Nn
N~

S2

S2

d) V)= :

e et & & o ool wft
4 SR
(@) ™I

(b) HR

c) &

(d) FE-ERR

T TR e T TR HA T
10 firer wftt 5 Y TR @ e § ik

15 e wfd 92 Al R Q@ TuE A

| 2 Ige st iy 2

/23

(@) 12 fae wfa gar
(b) 125 PR
() 13 frr of s
(d) T & A B T

37

98, frdft wafm A A B, R

(@ 0 (b)

© >0 id)

1

<0

99, fmffan gt § ¥F-w v 7

B2+ 3o

(a) Mode = 366,

6ﬂ1+9)

(b) Mode = wﬂﬁ(ﬁ:z+3)o'

2(582 -

_ _BiB;

6p;-9)

) +3)

@ 2% " 2o,

+68;)

B,+3)c

@ M°de, " 26p; +

100. SPRT &1 ASN %eH 2,

L(®)logB +|

52 - 9)

A

(@) E(N)= =

1- L{8)]log A
Z) ‘

1- L(6)]log B

L(6)logA + |

(b) E(N)= E

Z)

- (0 E(N)= =

(d) E(N)=

[1- L(8)[log B+ L({8)log A

z)

L(9)flog B +log 4]

E(2) |

[P.T.O.
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'SPACE FOR ROUGH WORK

38
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SPACE FOR ROUGH WORK:"
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